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General Instructions :
(i) Please read the instructions carefully.

(it)  This question paper consists of 24 questions in two sections : Section A
and Section B.

(iti) Section A has Objective Type Questions whereas Section B contains
Subjective Type Questions.

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v)  All questions of a particular section must be attempted in the correct order.
(vi) Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.
(vii) Section B : Subjective Type Questions (30 marks) :

(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section A

1. Answer any 4 out of the given 6 questions. 4x1=4

(1) Identify the personality disorder which is characterized by a lack of
interest in social relationships and people tend to be distant,
detached and indifferent.

(a) Paranoid (b)  Schizoid
(c) Antisocial (d) Avoidant
(ii) A student, who learns the assignments on his/her own and
completes the work on time is motivated.
(a) internally (b) externally
(¢) socially (d) globally

(iii) Arranging the data in ascending or descending order while working
on a computer is called
(a) Sorting data (b)  Filtering data
(c) Arranging data (d) Standardizing data
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A formula in Calc always starts with sign.
(a) (%) (b) (=)
e M) d )

An entrepreneur never gets disheartened by failures and keeps
trying by adapting and iterating to overcome obstacles that come in
the way of achieving goals. It is termed as

(vi)  The fear of _ works on the presumption that everything
could go wrong in the business.
(a) failure (b) capital
(c) policies (d) market

Answer any 5 out of the given 7 questions. 5x1=5

1)

(ii)

(iii)

(iv)
(v)

(vi)

(vii)

Thomas Cook and Sons and American Express are the examples of
companies. (Indian/foreign)

In 1670, the Grand Tour concept was developed especially for

purposes.
(a) holiday (b) entertainment
(c) religious (d) educational

The Peninsular and Oriental Steam Company introduced
services to India and the Far East.

(a) air (b) railways

(¢) bus (d) steamship

Write the full form of TAAI

ATOL stands for

If a tour operator is to offer a package, it is also known as __ tour.
(a) exclusive (b)  individual

(c) inclusive (d) group

Name the term, where an agent will need to gradually understand
what the consumer wants, how to fulfil that demand and the type of
interaction that is sought.

Answer any 6 out of the given 7 questions. 6x1=6
(1) AAA is an example of travel agency.

(a) mix (b) major

(c) minor (d) mega

Page 5 of 11 P.T.0.



EFE
o
2[5

(i) Pu aRgg ArTd i AT 3, AAT HAHIA TN AN bl
_ warg |
(a) HIIdl, daldl (b) SQIdl, ¥Idl

(ili) WA TH Tfafafer 2 |
(a) oTfdes (b) TEIN®

(c)  3Tfeleh o wraTioreh (d) A=

(iv) &g %ol I FA1 AW a1 a1 @ [FEH HHW AR I AT HLd §U
THITHeh T LA T I 2 |

(v) ‘T i gftwrfeg i |

(vi) SEH § T Q &I B Uh TgT 8 ?

(a) TIUW
(b) THT ATfethT
() EAA I AFRRI Tal ST 2
(d) o
(vii) I o ToTU I wrishH MM h =T ATaTIRAT Bl 8 2
4. feuuw 69w § 9 fohgl 5 9% & ISR fafgu | 5x1=5

() = 9 9 FF-E 9 FwrEn |e|{-<1|{t1\e|oh IYfad IiEsd, IR 6
1A, T 1 T, TATE ohl THHRT <dT & ?

(a) hepTeT ITT HIhHA (b)  ehrieh! IATAT hIAsHA
(¢) SUTCHh ITT hIIshHA (d) SARHT AT HTEAHA

(i) POSD I g 919 3 |

(i)  Tram ‘v‘%{ﬁ I glaumd S @fet, TE 318H, sl 99T |fdd rdréHe fohueh
3qel & ?

(a) WTATHeh ATATH
(b) Tediaes 3tmam™
(c) ALk ATAH
(d) Y AEE
(iv) 9799 $eh a2l SOTC ﬁﬁw%{{aﬁméﬁ%?
(v)  H-E Q H Al WISUS T A SH HU HgHHI h1 T HLdll B ?

(a) ¥EdF AT (b) HIEH I
(c) WEhIcS AT (d) TS H

(vi) UH Q@ &1 % AW Fa3¢ Fal @ AT U giaamsti F Yot g I
JUHRISA o foTu 3Tehftd s=Td 2 |

330 Page 6 of 11



EE

o
(ii))  Efficient transportation costs, while inefficient
transportation _____costs.
(a) reduces, increases (b) increases, reduces
(iii)) Tourism is a/an activity.
(a) economic (b) social
(c) economic and social (d) mental

(iv) What is the name given to big cruisers where guests can enjoy
luxury and entertainment while moving towards their multiple
destinations ?

(v)  Define the term ‘Shipping’.

(vi)  Which of the following is not included in a tour plan ?
(a) Tour programme
(b) Time table
(c) Information of places to be visited
(d) Insurance

(vii) Why is itinerary prepared for a tourist ?

4, Answer any 5 out of the given 6 questions. 5x1=5
(1) Identity the itinerary that specifies the details like scheduled
transportation, duration, accommodation, etc.
(a) Skeletal itinerary (b)  Technical itinerary
(c) Descriptive itinerary (d) Individual itinerary
(ii) POSD stands for .
(iii) Accommodation services like lodges, guest houses, bungalows and
service apartments are related to
(a) Primary accommodation
(b) Secondary accommodation
(c) Supplementary accommodation
(d) Complementary accommodation

(iv)  Which kind of tours are promoted by Thomas Cook and SOTC ?

(v)  Identify the tour where the local ground operator becomes the host
to receive the guests at the destination.

(a) Independent tour (b) Freedom tour
(c) Escorted tour (d) Hosted tour

(vi) Name any two areas from where tour operators take the services to
make a package tour more appealing to customers.
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5. Answer any 5 out of given 6 questions. 5x1=5
(1) Define Cost Sheet.
(ii1) The Room Rate generally includes breakfast as per the plan.

(iii) Deciding price of tourism business is a strong mix of
strategy and analysis.

(iv) It is a type of pricing strategy used to make over the cost in order to
reach at the break-even point.
(a) Cost-based pricing
(b) Competition-based pricing
(c) Consumer-based pricing
(d) Seasonal pricing

(v)  Write the full form of ASTA.
(vi)  What was ASTA’s advertising slogan ?

6. Answer any 5 out of the given 6 questions. 5x1=5
(1) Which type of tourism is promoted by ADTOI ?

(i1)  The recognition as an approved Travel Agent shall be granted by
MOT, Government of India and New Delhi initially for

year(s).
(a) four (b) five
(c) one d) two

(iii) The sites that actually read fare information from the screens of
other sites and reports them to the consumers are called

(iv)  What type of information is provided by GDS ?
(v)  Name any two major GDS systems.
(vi)  Write the full form of SABRE.

Section B
Answer any 3 out of the given 5 questions. 3x2=6
7. Write any two importances of Self-Motivation. 2

8. What do you understand by the term ‘Dreaming Big’ ?
9. Name the two methods used to filter data.

10. Define Entrepreneurial Competencies.

D M o o

11. Mention any two barriers to becoming an Entrepreneur.
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Answer any 3 out of the given 5 questions. 3x2=6
12. Write any four features of the travel agency business. 2
13. A travel itinerary is a key component of staying organized. Highlight the
things to be considered while preparing an itinerary.
14. Write any two features of GIT tours.
15. Mention any four cost components of a package tour.
16. Write any two regulations proposed by USDOT for GDS industry and
mandating the GDS owners. 2
Answer any 2 out of the given 3 questions. 2x3=6
17. What are the elements of a Travel Agent ? 3
18. Cruises are concentrated towards short sea journeys. Highlight any three
features of cruises that attract the tourists. 3
19. “Effective integration between Government and professional bodies can deliver
some significant benefits in the tourism industry.” List out some benefits
related to the statement. 3
Answer any 3 questions out of the given 5 questions. 3Ix4=12
20. “The use of Internet has impacted travel purchase behaviour.” Explain
the role and importance of Internet in Travel Business. 4
21. “Itinerary Planning is an important element for any package tour.” Explain
the role of itinerary planning in Tour Plans. 4
22. (a) Whatis a tour brochure ?
(b)  Explain the importance of tour brochures. 242=4
23. Differentiate between Rack Rate Pricing and Last Minute Pricing. 4
24, “IATO is always actively responsive to its social responsibility.” List out
the aims and objectives of IATO in handling tourism. 4
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